
Precalculus 11 – Flashback #5 

Riverside Math  Burton 

1. Simplify:  4 1232x .  Are there any restrictions on the variable? 

2. Expand and simplify:  )85(10 −  

3. Rationalize:  
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4. Simplify and state non-permissible values:  
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5. Factor:  992 2 ++ xx  

6. Sketch graph of:  4)1(3 2 ++= xy  

7. Determine the equation of the quadratic with zeros of 5 and -3. 

8. Solve:  0)7)(2( =+− xx  

9. Complete the square:  142 +− xx  

10. Graph the solution for 030112 >+− xx  

11. Given the sequence 52, 47, 42, ….. determine t20 

12. For the equation 
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y , write the equations for the asymptotes 


